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calorimètre hadronique semi-digital et comparaison avec
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1 e− 511 keV −1
νe < 2.2 eV 0

2 μ− 105.7 MeV −1
νμ < 0.17 MeV 0

3 τ− 1776.8 MeV −1
ντ < 15.5 MeV 0
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���� ������ ����������
1 u 2.3+0.7

−0.5 MeV +2/3
d 4.8+0.5

−0.3 MeV −1/3
2 c 1.275± 0.025 GeV +2/3

s 95± 5 MeV −1/3
3 t 173.21± 0.51± 0.71 GeV +2/3

b 4.18± 0.03 GeV −1/3
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���� �� ���� ���������� ��������� �	� �	����������	���� ����������������  � �	�!���
"��� ��� ������ ���� ��� ����	�� ��� ��� #�	#����� �"#	������ �� #�$����� ���
#���������� %� �&��� �	����� ���' ������ ����	������ ���� �� �������� ��������� #	����
������ ��� ( �����������	� )	��� ���"���� ������ *� ��������� ��� ��+������ ��� #����
�� ����� �� ������������ #��� ,��� ������ �� #���	"-�� �� "����#������	� �	��� ���
.��� �� ����	�� �#�-� ��� �	�����	�� ����� #���������� �� #���	"-�� ��� ����� #������
���� ��� #��"�-��� ���������	�� ��� #��������� ���� �� "���-�� �	�������� ��' ������
����	������ ��)� ���#���� /��

����� ��� ����	� 
����
�� �� ��� �	��������	� �
 ������ ���	�

����

0��� �� "	�-�� ��������� ��� ��&������� #��������� ������������� ����� ����� ��
������������ �� �	�	� ������� 	� �	�	� �� .�����

 � #�	�	� ��� �� �	�	� ������� ������� �	�� ����� ���������	� ������	"���������
����� #��������� ���������  � #�	�	� ����� #�� ������� �� "���� ����� �� �� �#�� 1�
 ����������	� ������	"��������� ��� �� #	���� ��!��� �� �	� ��������� ����� �	""�
1/r2 �	2 r ��� �� �������� ����� ��� ���' #��������� ����������

 ����������	� )����� ��� #	���� #�� ��� �	�	�� Z �mZ = 91.188 ± 0.002 GeV � ��
W± �mW = 80.385±0.015 GeV � 3456� ����� ���������	� ��� ���#	������ �� �� ��������
�����	� ��� #���������� %��� � ��� ����	����� �� 17/8 #	�� �'#������ �� ������������	�
β �� �����	� �� #�	�	�� *�� �	�	�� �������� ����� "����)� ����� ���������	� ��� ��
�	���� #	���� �� 10−17 m��  ����������	� )����� #��"�� �� "	��!�� �� ������ ���
�������  � ������ ��� ��#�	�� ����� �	������� �	�� ����� ������	� )������  � !���� 1�9
"	���� �� ������""� �� :�$�"�� ���������� �� ������������	� β �� �����	� �� #�	�
�	��  � ������"��� �� ������ ���� ����� d �� u ��� ���	"#���� #�� ���"����	� ����
������	� �� ���� �������	 ������	������

 �� ���������	�� ������	"��������� �� )����� 	�� ��� ���!��� ���� �� "	�-�� �����
����� ;� #���� "��������� �����������	� ������	)������ ��#������� ��� �	�	�� ����	�
����� ���� �� "	�-�� ������	)����� �##����������� ���� ��� "���� ������ �� ��� �����
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��� e+e−

�����
	 �

�
 5	�� ������ ��
� ����
	 ���� �� ������	 ��
��� ����&�� �� ��
������

#
� ��	�� ��
	��
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��� �
 ����	� ����0� ��� ����
�
�

���� &����

����
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���� ����� �� ���
�	
�
� ��� �
3���
	� �������	��	���� �	 ���	
���
0����
	
���� ��
 ��
	 	�0� ������� ��
��
	 5	�� ���
�	�
	� ��� ���
�	
�
�� 1

�
+ ��� 	��6���
	�����&�� ��� �����
�
��� 17�1! �	 � !+ �	 �� �����
�0	�� ����	�����
�	
��� ���
����&�
� �� � ! �����
	 5	�� ��������� ���� �� ��	�� $���$��

����
��
	+ ���	
�
��	
�
 ���
 ��������	��� �
�����
�� ���� ��� &����
� �����	
���		�

��� ��� �
���
� �������� ���� ������� ������� �
 ��������	��� ����	��
����
	�
�
8
 �3�	+ ��������
� ���	
���� �&����� ��	�������	
�
�	� ��
	 �
� 	��6��	�
�� ������+
���� ���	 �� ���
���
� ���� ����� �� ����

���
	 9 �� ����

���
	 ��
�&��	��
�
���
���
� �
��
��� ��� ����

���
	 ��
�&��	��
 ��	 ������	
�

���� ) 1/m4 %m ��	
�� ����� �� �� ���	
����' �	 1/R %R ��	 �� ����
 �� ��������'� 1

�
+ ���
���
� �
��
���
��� ����

���
	 ��
� �
 ����
�
�

��� ����	��
����
	�
 ��	 1013 ��
� ���� ������ ���
���� �
 ����
�
�

��� ���	�
����	�
�

:��� �		�

��� ��� �
���
�� ��/��
	�� ���� �	��
�� �� ����
 �� $
��� %
√
(s) ≈

250 GeV ' ���� �
 ����
�
�

��� ���	�

��� ����	��
����
	�
+ ����
���� ��	
�
� ��
	
�
�
������� �� ����
0�� ��	 �
 ����
�
�

��� �

��
�� ���� ������ ���
���
� �
��
���
��� ����

���
	 ��
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 ��	 
����� ����
��
	+ ���� �
 ��������	��� �

��
��+
��� ���	
����� 
� �����
	 5	�� ���������� ����
� ����� ��
�� �� ����
�
	 ����������	
�

��
	 ��
� 5	�� 	�0� ����� ���� ��
������ �
� 	�
��� �� �������
�
�� ;��
��

����;�
*� ����+ ) �� �
3���
�� ��� ��������	���� �
�����
���+ ��� ���	
����� 
����
	 ��� 

�
	����
 ���0� �
 ���
����
	 �� ��
������ ��
	 �������� �� ����
0�� ��	
�
 �
�
����
�
 ��������	��� �
�����
�� �� <" ) =" km %�8:� 9 �
������ 8���	��
 :��
	��
 ����
�
���' �� >" ) �"" km %?�� 9 ?�	�� �
������ ����
���' �� ���
�0	��� ��� ��	
�
�
�����		��
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	 ����
 ���
�
����� �� 	��
������	
�
 �� ��� ���&

�� �
 ����
�
�

���
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��� �����
	 �		�

��� ��� �
���
�� �� ������� �� �"" TeV � ����
��
	+ ��
��
	��
�� ���
 ��������	��� �

��
��+ ���
���
� �		�

	� ���� �
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�
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��� �
��
����
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� ������
	 ��� �������� -"" GeV ��
� �� ��
	�� �� ������ #
� ���

0��
��	
�
 ������
	 5	�� �
 ����
�
�

��� �
�����
�� �����
��
	 ��� ����
�
�
� ���
��
	
�

���
� ���
���
� �
��
��� ��� ����

���
	 ����
	 m4
e

m4
μ
≈ 5.5 × 10−10 ��
� ���� ��
���

��� ���� �
 ����
�
�

��� ����	��
����
	�
� ����
��
	 �� 	���� �� �
� ��� ���
�
%τμ = 2.20× 10−6 s' �����
�����
	 �� ����
��	
�
 ���
� 	���� ���&

��

�� ���

�� ���
	��� ��6��� ��� ����
�
�

���� ���	�

���� ��	 �� ����
�
�
	� ���	
�
�
��� ��� ��
������ �����
���� �� �����
��	
�
 ��������
� �� 	��� �� ���	
����� ��
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�������	
 ��
� �� ���
 ��� ����
� ���� �� ��
� �� ����������
 �� ��� ������	���� ��
�
	
 ��������

�	� �������
�������

 ��� �������	� ����
�
�� ��
� ��� �

��������
�
����� s� �� ��� ���	���
� ������ t �� u�� �� ���
 �� �� ������	�� ����
��� ��
� ���
�������	� ��� ������� �	� ��������� ����������
 �	 ���
 �	� � ��� �� ����������
� ���
������	��� �
����
���� !�
��
 � 	���������
 �� �������	� ��������� ��	����� �	���
���
��
������"����
� �� ��	� �� ����	����
 � 	
 ���
�� �� �	��� �	������� �#������
�
��� "�	��� �� ��
�� $�� �������
 %

√
s = 500 GeV 
 ���� ��� �������	� 
�
 ���������


�� �������
 e+e− → W+W− � 	
� ������
 �#���� �� &�' pb� !��� 	
� �����������

(P−

e , P
+
e ) = (80%, 0%)
 �� ������
 �#���� �� ����� �������
 ��� ��' pb ()*+�

,�� ������
�� ���
����� ��
����� "��
 ��-
��
 �������� ��� ���
���
��
 ���������
���
 ��� �������	�� ��
� .	� ��� ��������

�	�� �����
�.	�� ��
����	�
� ��� �����
��
��/� �
�������
��� ��	� �����	�� ��� ���	��� �� ��	�� ��������
� ��
� �� ����� �	
0�1 �0���
���� �����
 1������ �� � 2�, (�3+
 �
� ��� ��������� ��� ���������
� �	� ���
���	��� ��� ����	�� �� ��	������ �
��� ��� ������
��� ������	��� �� �� "���
 �� 4�����
�� ��"���	 '�� �����
�� ��� ��������
� ����
�	�� �	� ��� ����	�� �� ��	������ ��	�
�� �4, �� ��	� ������
�� ���
����� �� � 2�, ���� ������
 '�5�� ,�� ���������
� �
�

6��� �4, 2�,�')�� 2�,�)��� 2�,������
WW 4.1% 1.9% 0.24% 0.17%
ZZ 4.5% 0.44% 0.30% 0.27%
bb 13.6% 2.7% 0.94% 0.69%
gg 8.9% 4.0% 2.0% 1.4%
γγ 7.8% 4.9% 4.3% 3.3%
τ+τ− 11.4% 3.3% 1.9% 1.4%
cc̄ 4.7% 2.5% 2.1%
tt̄ 15.6% 14.2% 9.3% 3.7%

μ+μ− 16%
self 104% 26%

BR(invis.) < 9% < 0.44% < 0.30% < 0.26%
ΓT (h) 20.3% 4.8% 1.6% 1.2%

����� ��� � ����	
	�� 
������� ���� ��
 �����
��
 �� �	�������
 �
��	����
 
� ���
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 ����
 �� ��
	�����
�	�� �� �	��
 �� 
	��
� 	��	
	���� ���

�	�	�� 
����	���� �
� ������ 
��� �� �
�� �� ����
��� � � %� !�
 "�
��� �������


���
������ ��
 ����	
	��
 
�������
 ���� �� !�# 
��� ��� ���	��
	�� �� $%% fb−1 &

�'(!# � � % GeV 
��� � % fb−1 & �'(!# �  %% GeV 
���  %% fb−1 & �� �'(!# � � TeV

��� �%%% fb−1�

�	��� ��� ��������� ��	� � �	���� ��������

�	�� �������
�������
� �� -�	�� '�' ��
���
��� ���������
� �	� �� ��������
 ����
�	� �	� ��� �����	�� κA ��	� ��� ����������	��
�������
�������
 �� �� �4, ('7+� ��� �����	�� κA ��
� ��-
�� ��� 8

κA =
gHAĀ

gHAĀ,SM
�'���

�9 gHAĀ ��������
� �	� ����	�� �� ��	����� �
��� �� "���
 �� 4���� �� ��� ������
�	��� �	 ���/�� ���
���� �������
� �	 "���
� �����	���
 �� gHAĀ,SM �	� ����	�� ��



κγ κW κb κt

GeV TeV



Dumping Rings
km

GHz
MV/m

mrad



GaAs
GeV

GeV m
MeV

GeV

km

2× 1034 cm−2s−1 5× 1034 cm−2s−1

TeV ms ms
≈ 5Hz ms

ns



�� �� �� �����	��

��� ��

���� �
���
����
��

√
s GeV 250 500 1000

���� �� 	
���
�
� Hz 5 5 4
�
���� �� ������
 ��� ����	 1312 1312 2450

�
���� �� �����	���
 ��� ������
 ×1010 2.0 2.0 1.74
��������
� ����� ��
 ������
 ns 554 554 ���

�������� ���		�������
� MVm−1 31.5 31.5 38.2

�
����
���
� ��
 ���	��
�
 % 80 80 80
�
����
���
� ��
 �

��
�
 % 30 30 20

�����

��� ×1034cm−2s−1 0.75 1.8 4.9
������ �
���
����� ��  ��
	��� �� �
���

��������	��
�
nm 729 474 481

������ !����	��� ��  ��
	��� �� �
���
��������	��
�

nm 7.7 5.9 2.8

����� ��� � ������	 
���
��	����� ��� 

����
���� ��
����
�����	�� �� ������

�� �
"���� �#% �� ������$�� ���� %��& 
��� ���������� �� ��
����� ���� 	
������
���
 �� ���%�	�
$�����' ������$�� ��
 ��
�
�
 (�� �
"���� )#% �� ������$�� ����
%��* 
��� ��
���� �!�	 �� 	��
���+��� ���	��
��$�������' ,�-�& ������$�� ��
 ����
�

������
 (�� �
"���� �.% �� ������$�� ���� %��* 
��� ��
���� ���
 ��
 	��
���+���
'
�� -$��� )'� ����
��� �� ����	��� �� ��
��� �� ������$�� ��� 
��!� ��
 �����	���
' ���/

������ ��� � ������ ��
������� �	 

����
� �� �	��� ��� 
�
���	����

����
����������& ������$�� ��
 %��
 �
� ���������� �� 

����� ������$�� ��
 ���0�

���
 ��
 ��1�����
 	��
���+���
' 2!�	 �� �32& ������$�� ��	
�
������ ���� %�� Ejet
��!���� 4

Ejet = Etraces + Eγ + Eneutres ()')*


5 Etraces �
� �� 

��� ��
 ����$��
 ��
 �����	���
 	���$��
& Eγ �� 

��� �� ������$��
��
 ��
�
�
 �� Eneutres �� 

��� �� ������$�� ��
 ����
�
 ������
' �� 
�		+
 �� 	����
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 � ���
 ����
	������ �� ����������� ��	 ���
��
��	 ����
������	 ��
	 ���	 ��	 	��	��
�������	� ��	 �
���	 ��
	 ��	 �����������	 �����
� �������
 ��� �		���
	 ���� ��� �!����"�#�
 ���� ���� 
��
������ ����� ��
	 �� ��������"������
$��� ����
�� �
 ��
���� �!����"�#�
% ��	 �����������	 ������"��
������	 �����
�
 ��� �		���
	 � �
 ��������"����� ���� �
 ���"�� ������� ���	 &������ �� ���"�� ���
����� �	� �
'
� ����� �� 
����� �� ��
"����	 �� ��������
 X0 (�&� 	�����
 )���� ��
�������� )*� �� &���% ���� ���'��� �� ��+���� �� �� ��
��	��
 �� ��	��� �� �!���
���	��
 ��	 ���������	 ����"
�	 ��
	 �� ��������"����� ( Δp

p2
≈ 5 × 10−5(GeV/c)−1*%


����� ,�� ��	 ���������	 �
����"�		�
� �� &�-�
 ���� �������
�� ��
	 �� ������ ��
�
����� �� �
������� (��
���	��
 ��	 �����
	% �
��� �� "����	 
��������"

��,��	 ��
�����
�,��	*� .
� ���	 ����� "��
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 ��
	 ��	 �����������	 �	� �
� ��
�����
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���� ���� ��� �� ��� GeV ���� �� 
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��� �

�� '"��� ��/ ��
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 �!
�
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� ���� �
 ��� �� �00
GeV �		� �� �� �
	�
�
"�����
 �!�
 ��	�
 1 �
 uū ��
	 �� 2��
� 3
������� �
�
���
����
�� (��3* ���� �
� 

��"�� �� �00 GeV ��
	 �� ��
��� �� ��		� 45�6� ��	
���
��
��	 ���������	 	�
� ����
	������	% �� �� ��	 
��
�
�% �		���
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� 
����� �� ��
��+ 
�������

�,��	 �
������� �� ����� ��
	 ��	 �
�������	� 3� ���	% �!�����	����
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� ����&	 ��	 	��	��
�������	 ��"��
������ �� ���"�� ������� �
��� ��	
�
�������	 �� �
"�������� ��
� ��	 ���&����
��	 ��	 ��"�������	 �� 	���� �� ������
����	� $��� ������� �� ��
	�������
 �� 	�
 ����� �
����% ��	 �
�������	 �� �!��� ���
���
� ������ � ���'� �� &����� ���+ �� �����	��
 (� Hz*� ��	 ���
��
�	 	��	��
�������	



�� �� �� �����	��

��� ��

���� �
���
����
��

�������	
�� ��� ���
������
� ������ � ��� �

�
����� ���� ��� �
	�� �
��


���
�
�����	���� ���	
�� ���

������
��� ��������	� ������� ��� ������ ms ���� �	
����

��� �� ����������

�
�	 	��
��	� ��� ����	����� �
��	������ �
�
���� ��	 ��� !" ���� �
���#
	���
��
�	��������� �� �����
���
��� �� ���� ��������	� � �� $	��� %�������	 ����	����
���
&� % � ����	����
���  �	'� %�����
	( �� �� %�������	 �� )������
 &)�% � )����
� %�����
�
	(� !�� ���� ��������	� �
�� ��� ��������	� '���	������� ���� �� �	�*���
'	��+�" ��
���
	�
,�	� �����	

�'������� �� �� ���
	�
,�	� +��	
����� ����'	�� ���� �� ��
���
&�
���
-�� ���	��
�������	(" ���� ��� �+�
#	�� . 
�
��� !�� ���� ��������	� 
��
��� �
�'���� �
�	 	��
��	� . �������	� �	��,	�� #���� ��	 ��� ��	�
	
����� 	�������
�
�	 ������	 ��� �	
�	����� �� #
�
� �� /�''�" �


� �� 
����" �
� ���
��
����'�"
��� 	���
	�� �� #	���+�
���" 
� �� ���
���	�� �� ��	������� ����	�0
��	������  �
��#���� 1�2 �	������ ��� ��	�
	
����� 	������� ��� ����	���� �
�����������	��

�
�����������	� 3#��	��#�� ��	�
	
����

4	�*���
'	��+�"
!+�
#	� . 
�
��

5��
����
� ��	 ���
�����
� ���
��	������� �+�	'��� �

Δpt

p2t

5× 10−5 (GeV/c)−1

4	�*���
'	��+�"
!��
	�
,�	�

5��
����
� �� ���	'�� ��� *��� �
ΔE

E

3− 4%

6�	��� 5��
����
� �������� 3 μm
7��'�� 
���,	� 0.15%X0/plan

5�0
� �� �	�
��	 ���� � 1.6 cm
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	�
�
������
 �� ���������	 ���� ��	 �����	
����	 �� ��� ����� ��	 �
	�
	 � �cτD± = 311.8μm� �� � �cτB± = 491.1μm� � !"�
#��� �����$ �� �
������� �� ������ �	� ��
	����
 �� ����	 ����%�	 �&��
���'��	 ����%�	
�� ���
� ���
��������
 ���&�
 �� �� �����(�� ����%� ) ��* cm�� �%�'�� ����%� �	�

'���
� 	�� �%���
� �� 	�	 +���	 ���
 �
������� , �����	 �� 	�������$ �� '�� ������
������� * ���
�	 �� ��	��� �� �� ���-������� ��	 ���������	 �%���
�	 ��
	 �� �
��������
#��	����	 ���%
������	 �� 	�
	���	 	�
� ��
	��
�
�	 ���� 
'����� �� �
������� ��
������� #��� �%�'�� ����%�$ �� .����� ����(�� �	� 
'������
� , 0.30%X0/couche ���
0.15%X0/plan�� �� �
	������
 	������� �σ� �	� �
+
������ , / μm ���� �� ���
 �� ���	
����%� �� ���
� ���
��������
� 0
1
$ �� ����%� �� ���	 �
���
� ���� 2��� ����.�� ��
�
	�	��� , �
� ��	� �� ������� �� � kGy ��� �
� �� ��.���� ��3 �
	��� ��	 �����(���	
��	 ��4
��
�	 ���
	 �� �
������� �� ������ �� ������

#��
 5�&�
 �mm� σ (μm)
1 16 2.8
2 16 6
3 37 4
4 39 4
5 58 4
6 60 4

��	
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�� �����	�
����
� �� ����� ���� ������ �� ������ ����	����� �� ����	���� ����
����	����� ���
�� ������� ���� �� �
����� � �� ��� �����	
� �������� ���	 ��! ����� ��
����	���� �� "����� �� �� �#$ % �� �&� �����	
� &������� ���	 ��! ����� �� �#$ ��
�� 	��
���'��� ���	��
����������� ���� ������ ����	����� �� ����	��� ���
�� �������
���� ��� (
�	

�� � �� )�� �)
�*��� ���	 ��� ����	�
�! ����� �� ��(� �� +���	���
�� �� �#$ % �� &�� �&��	�� ���	 ��� ����	�
�! ����� �� �#$ �� �� 	��
���'���
���	��
����������� ��� ����	����� ���, �&� �� &�� ���������� �������
��� ����-
�
	����
� ��� ���	�� ����� �� ����	���� �� "����� �� �� �#$, �� ����� �� �#$ �� ��
	��
���'��� ���	��
���������� �� �������� ���	������� �� �
��� �������� �� �� �
����
�� �� �#$� �� ����	��
� ��� �����	���� 	
������ ��� �������� . ������ �� (����� 	�
�-
���� �� ����	��� �� �/ cm �� �
�� �� 0/ μm �� ������ �������1� �� ����	���� )�� ���
��������� �� 	
�"������ ��������� �� �� �#$ �
�� ��� ������ +��(��� �cosθ > 0.802! ��
�� ����	��
� ���� +���� . ������ �� ������ �� ����	����

������� �
 
�
���� � �����
	��� 	���������

�� 	
��(�� . ��
��	��
� ����
����� 	
������� �� ����	���� ����	���� �� �����	�
-
����
� �� ������ 2�� �#$ ��� �� ����	���� ��3��� ���������� �� ��	
�������� ��
�����	�
��� �� �����	���� 	
������ ��� �� ���"������� $�� �����	���� �
������ �� �������
�� ��3 �� �
�� �� ���� �����	�
���� ��� 	
����� ����� ��
������ ����"���, ��4	� . ��
	
��� ���	������ ������'�� �� +���	��� �
�� �����, "��� ��� (
�	

��, ���� ��(������
�� ��
	����� �� ��������	���
� �
�� 1��� ����	�����

���� ��	
�
�
���� �
�� ��"������� �
�� �5�	���� �� ��
	����� �� ��������	���
�
�� �� ����	��
� � ��� 6&7 �6�� &��	��
� 7���������! 
� ��� 7�	�
������ #
�� ��
��	���� ��� �������, ��� ���� 
���
�� ��������� ��� 	������� �� 	��"�� �� 1× 6 mm2

	
������ . �����������
� ����� 	
�	
� �������"�� $���� ��	
����� ������ �������� ��
	
���� ��� ��������� 	������� �� ����� ��
(����� ��� ��������� ���
����
� �������� ��
	
���������� �� (��8	����� ��� 	
������ ����+
�����
� 9� �r, φ! � ����� 
(����� ������
�� ��	
�������� �� �����	�
��� �� �� ���	� �� ��������� �� "������ �� ����"� ��� 	
�����
���� �� ��3� �����������
� ����� 	
��(�� . ��
��	��
� ����
����� 	
��
��� ���������
�"������� �
�� �� 	
�����
����� ����
������ ��� ���	�� �
�� ��	
��������� �"�	 ��
����� �
�(�� �� �
���� 	� ��� ������ �� 	
������� ��� �
��� (
��� ���
����
�
�������� ��� 	���� ���� 
(����� �� ����	���� �� ����	���� �� (����� ����'�� �����
�#$ ��� +��(��� &�:�, ��� �#$ ������ �� �������� �� ��������:	���
� ��� �����	����
�� �������� �� ����� ��������� dE/dx� �� ��(���� 9�0 �������� ��� �����'���� �� ��
�#$ �� ������

�� :���� 9�; �
���� ��� ����� <� �� ��� "�� �� 	
��� �� �8��'�� �� �����	�
-
����
� �� ����� �� �� ��� 	
��
������

�� θ ��������	
 � �
�	��� ������� 
�	� �	 ������� 
� ����
�		��� (z, θ, φ)� �����������	� �������

�	 �������� 
�� ����������� z ��������	
 � �
��� 
� �������� �� φ � �
�	��� ���������

�� r ��������	
 � �� 
����	�� ��� ������� � �
��� 
� ���������
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����
 �
���
� 329 mm
����
 �����
� 1808 mm
���� ��
����� 2350 mm

���������� �
������� ��	��� cosθ ≈ 0.98
!����� "�	 #������� "� ��#���� 1× 6 mm2

�
	������
 	$������ �
 rφ 60− 100 μm
�
	������
 	$������ �
 rz 0.4− 1.4 mm

�
	������
 dE/dx 5%
�
	������
 	�� ����$��	��
 "�	 ���#�	 10−4 (GeV/c)−1

����� ��� � ����	�
��
 
��������� �� �� 	������ � 
����	���� ���
������ ��
����� ����

TPC

Beam pipe

FTDSITVTXInner Support Structure
(ISS)

Adjustable support of 
ISS on TPC endflange

VXD supported by 
beam tube

Beampipe supported by cables 
from support structure

Cables/servicesBellows
(both sides)

���	
� �� � ���!� "� #� !��	��$ �� %�� �� 	��
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�������
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"�	 #����������	� �� ,���� ���- ��#�
	� ��	 "�*
��
��	 ��#%
������	 �
��	��
�	 $���

��	 #����������	 
��#������

�����	 �� %�"��
����	 "� ������ !����	 ��	 �$���
	 "�

#����������	 
��#������

�����	 �� %�"��
����	 $��$�	�
� "�	 #����������	  
#%�
)

�����

���� ��	 #����������	  
#%�
�����

��� $�������
�& ��.#�  ���� 	����
�����
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����"�
���& "��(��
�� �
� ����� /� "�	 ���(�	 
��#������

�����	 �� %�"��
����	�

�� #���������� 
��#������

����� �����	��� "�	 �(	��(���	 �
 ��
�	��
� ��
"�	 ���

�� #���������� %�"��
���� �����	��� "� ���#���� ���� �
 "
��#���� ��$��	 "� ���##
�
)

������ ����& �� ��
�	��
� 	����� #%��	� #���� �(	��(��� "� #���������� %�"��
����
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(���"#��
 )��
��
*�+� ,�-�	 �	�
�	
 1843 mm

,�-�	 
!�
�	
 2028 mm
.�"��
 

 �����
� �����
� 30

/����
 

� �
����
� 5× 5 mm2 �� 5× 45 mm2

.�"��
 

 ��	��
��� 

 ��
�����	 24X0

0�+� ,�-�	 �	�
�	
 2058 mm
,�-�	 
!�
�	
 3410 mm

.�"��
 

 �����
� �����
� 48
/����
 

� �
����
� 30× 30 mm2 �� 10× 10 mm2
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������	 6λI
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 5× 5 mm2 
� �	
 ������
�� 

 44�



μm

10× 10 mm2

σE/E = 16%/
√
E ⊕ 1.1%

5 × 45 mm2

5 × 5 mm2

45 × 10 mm2

σE/E = 13.5%/
√
E ⊕ 3.5%

GeV

GeV

%
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	����� � ���� ����� ���	���� �� ���	� ������� ����	� �� 	��������� ��
���	��� ������������ ������� ��  ��
���� �� �� �	���	���� �� ����	� �� 
��
!�� ���

��� ������ �� �
����������	� " ����� ���	���� �� 	��������� ����� ��� ��#���
�� ��	 ��
����	� �� 
��
!�� ���
 ��� �
����������	�� " ���� !���� ���	���� ��� ����	��	�����
������
����� ��� ����	��� ��	�$�� �� �	���	���� �� ����	� �� 
��
!�� �� �
����������	
��� ����	���	� � %&%�

'���� ������ $����� ������ �� 
���	��
�	� ��������� ��� ����
���	� (")* �(��
������
 "
���� )�+�� *����	� ���
 ��� ��
��	� �������� ���		��� ��	����	� ��������	
��� ������������ �	�����	�� �� ���	�	� �� 50× 50 μm2� ,��������� 
���� ������ ���
����� ����	� $�� ��� ���+ �	�
��������

������� �� ��	
��
���� ����
�����

�� �	��
����� 	-�� �� 
���	��
�	� !��	���$�� �� ��.�/ ��	� �� ����	�	 
�		�
���
���� ��� ���-�� ���	����$��� ������� ��	 ��� !��	��� 
!�	��� �� ����	��� �� �� �����
	�	 �	�
������� �����	��� ��� !��	��� ����	��� 0�������� $�� �����	��� ��� !��	���
����	�� 
�������� �� ��1���� �&% �� �����	��� ������ ���� ���� )������	� ������� ����
�	������� ��	 �� 
������	����� ,"�.,' ���	 �� 
���	��
�	� !��	���$�� �� ����
���	
.�/� ��� ��2�	����� ������� ���� ��� 
���	��
�	�� � �
!������������ ���
 34 
��
!��
�
����� ����	��� ���	� ��� ���$��� ���
��	�

5�� �	���
	� ������ �"6,"�� ������� ��� ������ �
����������� �� ������$�� 
����
������ �
�� � ,�� ������ ��� ��� ������������ �	�����	�� �� 3× 3 cm2� 5� �	����1��
�!1��$�� � ��� 
����	��� �� �&&7 89:;� ,� �	����1�� ��� ���
	����� ��2�	��� ��

���	��
�	� �	����� ���	 ��.�/ < �� 
������� ��� ������ �� 3 × 3 cm2 ���� �� 	�����
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Δθ mrad
[31; 77]
[5; 40]
[31; 77]
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91 GeV e+e− → Z
160 GeV e+e− → WW
250 GeV e+e− → ZH

350− 400 GeV e+e− → tt̄
e+e− → WW
e+e− → νν̄H

500 GeV e+e− → ff̄ Z ′

e+e− → tt̄H
e+e− → ZHH
e+e− → χ̄χ̄

700− 1000 GeV e+e− → νν̄HH

e+e− → W+W−

MeV

e+e− → ZH
e+e− → νν̄H e+e− → ZHH

e+e− → ZH
GeV



GeV

e+e− → ZH
W+W− e+e− → νν̄H ZZ e+e− → e+e−H
GeV

GeV
MeV

e+e− → νν̄H

GeV e+e−

GeV

e+e− → ff̄ f
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= 4αr2e
NA

A

{
Z2

[
Lrad − f(Z)

]
+ ZL′

rad

}
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RM = X0
Es
εc

���( 

�, Es = mec
2
√
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������� �� � ����� �� � ns 	��� ��� ��	������ �� �	 ������ �� �	� �� 5 mm 6�78� 9�
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��������� ����������� ��
�������� 	��� ��� ������� ��
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���� ��� ���������� ��� �� �	�	
!��� ��!� �
����	�� ���� ��� 23��
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�	 ������ �� �	�� /���� �� ��������� ���	 	������ ����	�� �� ����	�� ��
�� �	��
�	 ������ �� �	 �	��	��� �	 ����������� �� �	 �	;����� ��� ���
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��� �� ��	���� �������	���� �� ��	��	���
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��	�����+ ��� 	���� ����/� ��� ������� ��� �����
	����� ��������� �	�� ��� �����
����
���� ��� ����	���� 7

 8 �� ��
��� �� �������
��� 1"5���� 9

,8 �� ��
�� 	����� 	� 
�
��� �� ��#�	� 1"5���� *���	��������� �	� �	� �� ,!! n�+
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+(Ēreco − ĒCB)
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2

�
���������	� Δσ̄reco ��� �
����� ��
� σreco ��� 	����� 
�� 0

Δ2σ̄reco = Δ2σ̄stat

+(σ̄reco − σ̄CB)
2 + (σ̄sim − σ̄sim,NC)

2

+(σ̄reco − σ̄+5%)
2 + (σ̄reco − σ̄−5%)

2

$�� ���������	�� ���� ��������� ��
������ 	��� �� ������ 	�� ���������	�� ��� ��� 	��
�������� ��������� �� ��� ����������� �� �������� �� ������� *�' �������� ��� 
�����
��!
��������� ������� ���� ��� 	������ 	� ������ ��	�������� ������������ ��� ��� ������
1� �� 12 	� $-34�

������� �����
�
	�� ��	 ����	 �
��

� �� ����
�	��
�	

5��! �����	�� 	� �������������� 	� �
������� ��� ��� 
���������� �� ����� *�67
������ ��� 	������������ 	
������� ������������ + �( �� �( GeV ���� ��� 	��! �����	��
8��	� ������� �� ������������9�  20 :�;� �� 	�,������ ����� ��� 	��! �����	�� ���
#������ ���� �.�� ��� 	����������� ���"������ 
��� ������� 
��� �� ��	� ��������
$�
��	���� + �( GeV � �� 	����������� 	
������� ������������ ���� �� �����	� ������
������ ��� �������
 
��� ������� ��� ����� ������������ ���� �� �����	� �������� ��



��� ������	
��	��� 
� �����
��� 
��� �� ������ ��

������� [GeV ] � �	� 
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Ēreco(H6) 5.34± 0.68 7.46± 0.14 10.01± 0.19 15.12± 0.24 20.59± 0.22 25.31± 0.17
Ēreco−Ebeam

Ēreco
(H6) 6.7± 13.6 −0.5± 2.1 0.1± 2.2 0.8± 1.9 2.9± 1.5 1.2± 1.2

σreco
Ēreco

(H6) 24.1± 3.8 23.5± 2.2 21.1± 1.3 17.3± 0.4 14.9± 0.3 14.2± 0.4

Ēreco(H2) 10.01± 0.21 19.86± 0.23
Ēreco−Ebeam

Ēreco
(H2) 1.0± 2.0 −0.7± 1.5

σreco
Ēreco

(H2) 19.1± 2.1 14.3± 0.4

������� [GeV ] 
� �� �� �� �� ��

Ēreco(H6) 30.70± 0.29 41.03± 0.25 51.01± 0.43 64.56± 0.47 71.78± 0.86 80.17± 0.91
Ēreco−Ebeam

Ēreco
(H6) 2.3± 1.4 2.6± 1.2 2.0± 1.3 7.6± 1.3 2.5± 1.6 0.2± 1.5

σreco
Ēreco

(H6) 12.9± 0.3 11.9± 0.4 10.7± 0.4 9.3± 0.3 8.7± 0.3 7.5± 0.3

Ēreco(H2) 30.53± 0.34 40.61± 0.32 51.80± 0.40 60.67± 0.60 68.21± 0.91 78.65± 0.83
Ēreco−Ebeam

Ēreco
(H2) 1.8± 1.5 1.5± 1.3 3.6± 1.4 1.1± 1.4 −2.5± 1.7 −1.7± 1.4

σreco
Ēreco

(H2) 12.8± 0.3 11.6± 0.3 10.6± 0.3 9.9± 0.3 9.5± 0.3 7.7± 0.5
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f(x;α, nth, x̄, σ) = N ·
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exp(− (x−x̄)2
2σ2 ) �	� x−x̄

σ
> −α

A · (B − x−x̄
σ
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K+ 12 GeV − 100 TeV 4 GeV − 100 TeV
K− 12 GeV − 100 TeV 4 GeV − 100 TeV
π+ 12 GeV − 100 TeV 4 GeV − 100 TeV
π− 12 GeV − 100 TeV 4 GeV − 100 TeV

neutron 12 GeV − 100 TeV 4 GeV − 100 TeV
proton 12 GeV − 100 TeV 4 GeV − 100 TeV
ion 2 GeV − 100 TeV

10−23 − 10−22s

10−18 − 10−16s

GeV

p n π K Δ Σ Ξ Ω γ
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ε(q) = ε0 − c
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